Economics 102

Problem Set 3
Professor Gindling

1.      
 a.
From the following data, construct an Aggregate Demand (planned 


expenditure) schedule.  Then use equations or the chart below to 



determine the equilibrium level of Aggregate Demand.  Investment 


spending is zero.


(In billions of dollars)


National      
                   

  Government             Aggregate     
Unintended


Income

Consumption          Spending     
Demand
Inventories

 1100
                 990                     130



 1150

1035
  130


 1200

1080
  130


 1250

1125
  130


 1300

   1170
                    130


b.
Calculate the level of unintended inventories at each level of income.  


Using this information, explain how the equilibrium level of income will 


be reached.


c.
Now suppose the government increases its level of spending to 140, and 


the price level is fixed.  By how much will equilibrium income increase?

2.
In the Fall of 2008 an investment bank, Lehman Brothers, declared bankruptcy.  This bankruptcy touched off a financial crisis that led to a dramatic reduction in credit available to business and governments.


a.
How would you expect the financial crisis to affect 
consumption

 

spending?  Why?


b.
How would you expect this change in consumption to affect Aggregate



Demand and National Income?  Why?

3. Suppose Grob’s Bank had the following balance sheet:

Assets






Liabilities
Cash Assets (Reserves)
  4500


Demand Deposits


Loans



14000



You

  4000

Securities


11500



Others

26000

Total



30000



Total

30000

Suppose further that the required reserve ratio is 0.15

1) Is the bank holding more or less than its required reserves?

2) Suppose the Fed engages in contractionary monetary policy by trading a $2000 bond, would the Fed buy or sell the bond? 

3) What is the initial effect on the bank’s balance sheet if the bond is traded with you—a depositor at Grob’s bank?

4) What will be the total change in the money supply?

5) Explain how the Fed’s policy effects: (i) interest rates, (ii) investment, (iii) consumption, and (iv) equilibrium aggregate demand.  Use carefully labeled graphs in your explanation. 

